








kg



4
o_L

A
rom
2 k
m YY7
19

L_L

oju

km






[ o

5 At = FohA 2




I
el
riu
£y
=
f
)
fok
i
I

AL,

X

X
(SN
—
o

® Q
[e A RGIEN TN

g 0 @ ©
I i i

it






10. o2&
Oa2 AlntstA L.




o|7} 3 A]

kg



Q —
37m

S,

(&)

Y,

2

'

V\Q
~_02. . .
23m

Y

©

Y,

(%)

Yo

[d&oldl &

Ayt 7 2ol § W2

IS

o] =&



13.

cm



st o] Yol 1;km2011 1 5ol

2
£7e) 2 7 5gole, 574l Yol

B e km?



15. Thg T4 AAs 2R Holg T,

2
5.
\
12
73
/
~ _ 3— - -
%
@ 31 cm? @ 10i cm? ® 4— cm?
g
@ 8— cm? ® 8— cm?



L o] &o] 4yt o]

2
3

16. O FEZAE AT 2L & 3029 18

22 LAY7R?

oju
1_.___0

wjy

1
@ 9 L ® 280 L

2
46— L
@ 3

® 560 L

1862 L
@ 3



o<t

FasYo. 22 FollA

S

2 240 kg 5-8F

L Q3
T =

CEEER

17.

kg



18.

g A BEUA G + O] 7P 27 He A e Fas

@, O= ot Az 2412, (HF, @ >0 dYH)

1

1 1
60 18




7l

)
AR

L F8]5c ¥ ket

S

Lo &5 2 2A7F 458 S G, o]

Fu7p

an
4
370
<t 1 ©
[l
©
jeto}
.
370
9701 ]
N[O [
— el
Q@ ©
w £
S

E
30
113
120

D1
@ 2



A=A 2|2 otEA| Q.



